2XM3 X 6MM LONG
PHILLIPS SCREWS

CUSTOMER'S
EXISTING FLEXIPOLE STAND

&~
&Y ) “—ZEBRA SCANNER

(CUSTOMER SUPPLIED)

SCANNER BRACKET
CAN BE ROTATED

PARTS INCLUDED WITH 367-5686

1. MOUNTING BRACKET FOR FLEXIPOLE
2. SCANNER MOUNTING BRACKET
3. 2X M3 X 8MM PHILLIPS SCREWS
4. 2X M3 X 6MM PHILLIPS SCREWS

CUSTOMER'S

EXISTING FLEXIPOLE STAND

TOP VIEW

CF

O
B DATALOGIC SCANNER/
(CUSTOMER SUPPLIED)
DATALOGIC SCANNER (1 8]
(CUSTOMER SUPPLIED) ( o ) — =
2X M3 X 6MM LONG
PHILLIPS SCREWS
O Q © O
( [162.09] >
6.38
< [100.02] )
3.94
BRACKET CLAMPS \
UNDER PLINTH
i —
SIDE VIEW

. ( [100.49] ) ]

3.96

FRONT VIEW

B

UPDATED PIVOT TO M4 X 12MM LONG SCREW,

UHMW WASHER AND M4 NYLOCK NUT 03/17/22

JVT

JVT

A

RELEASE FOR PROTOTYPE

06/21/21

JVT

JVT

REV.

DESCRIPTION

DATE

BY

CHK'D

DRAWN —J. TERVEER

THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF
HAVIS AND REPRODUCTION IN PART OR IN WHOLE WITHOUT THE WRITTEN PERMISSION

OF HAVIS IS PROHIBITED.

ALL DIMENSIONS ARE IN INCHES UNLESS STATED OTHERWISE.

FAIS

CUSTOMER VERIFICATION AND AUTHORIZATION

DATE

06/21/2021

CUSTOMER APPROVAL
(SIGNATURE REQUIRED):

FATS

TITLE

DATE

SCANNER MOUNT,

FOR FLEXIPOLE COMPLETE STAND

C

SIZE DWG. NO.

367-5686

REV.

B

SHEET 1 OF 1

)

5 ‘T‘ 4

3

1




	CV
	Drawing View1
	Drawing View3
	Drawing View4
	Drawing View22
	Drawing View23
	Drawing View24




